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1.
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 b

80 Ω

 4A∠0° 200 µF 5 mF 3 H

Note:  ω = 10 r/s.

Do the following for the impedance to the right of the a, b terminals:

a) Calculate complex power S = P + jQ.

b) Calculate average (or DC) power.

c) Calculate maximum instantaneous power.

d) Sketch the power waveform, p(t).

2.
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a) CalculateIrms.  Note:  ω = 5 kr/s.

b) Calculate the complex power, S, for the components inside the box.
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VgYa'n = 101∠0° V zgY = 1 + j0.2 Ω

VgYb'n = 101∠–120° V zline = 6 + j0.3 Ω

VgYc'n = 101∠+120° V zLΔ = 9 – j1.5 Ω

a) Draw the single phase equivalent circuit.

b) Calculate IBC.


